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There were 35 students in a hostel. If the number of I

students is increased by 7 the expenditure on food
increases by Rs. 42 per day while the average
expenditure of students is reduced by Rs. 1. What was
the initial expenditure on food per day?

Twet sEma™ ¥ 35 faendf o afe faenfoda &t w@m 7
¢ St g, af WieH uX YfafeT @il $o 42 §€ W §,
Safehr Udh B &l AT @ol To 1 HH & AT 2l
BETEE &1 Ufd foT T @t faaar an?

(a) Rs. 400 (b) Rs.432 (c) Rs. 442 (d) Rs. 420

Out of nine persons, 8 persons spent Rs. 30 each for
their meals. The ninth one spent Rs. 20 more than the
average expenditure of all the nine. The toal money

spent by all of them was :
9 Ffeaal § ¥ 8 Hfed Tdish @H WX o 30 @el hial

21 9 af Afea fEa & ALY Go 20 3AHFH Gl HIAT
21 st el g0 @Y A g9 7@ A2

(a) Rs. 260 (b) Rs. 290

(c) Rs. 292.50 (d) Rs. 400.50

A cricketer has a mean score of 60 runs in 10 innings.
Find out how many runs are to be scored in the
eleventh innings to raise the mean score to 627

T& TooiaTst &t 10 Ut &1 3ied 60 1 81 116 urdt #
AfF ®1 fhaw W a T anfed, fad sue aia 62 &t
Sa?

(a) 83 (b) 82 (c) 80 (d) 81

The batting average for 40 innings of a cricket player
is 50 runs. His highest score exceeds his lowest socre
by 172 runs. If these two innings are excluded, teh
average of the remaining 38 innings is 48 runs. The

highest score of the players of
forelt SeoiaTST 1 40 UTREAT &1 3Td 50 T 81 SooiarsT

T AHAT ThIY, FAaT @I | 172 T AT g1 afg

B9 q UEl @t fehtel faam S, ot ateRl 38 it &t

:ﬁﬁmmwg‘rw%l TooraTS & AUHAT WHIT F1d
9

(a) 165 runs (b) 170 runs

(¢) 172 runs (d) 174 runs

The average of six numbers is 3.95. The average of two
of them is 3.4, while the average of the other two is
3.85. The average of the remaining two numbers is

BT TEAIRAl &1 3iEd 3.95 1 W @ & &1 3064 3.4 B
et 3T & TRl &1 3Hd 3.4 §1 91T & @S @
afraa ferat 72

(a) 4.6 (b) 4.8 (c) 4.5 (d) 4.7

The average of six numbers, is 20. If one number is
removed, the average becomes 15. What is the number
removed ?

10.

11.

12.

6 TEAISH &1 3Ha 20 §1 IfE TH @& @l g foran
ST, 91 3T 15 81 ST 81 §eTE et WA A &1 2

(a) 5 (b) 35 (c) 112 (d) 45

The average of nine number is 50. The average of first
five numbers is 54 and that of the last three numbers
is 52. Then the sixth number is :

9 TEAl 1 3fted 50 71 9w 5 AR @1 3itea 54
qT Afq 3 FEATS 1 I 52 &Y, A 6 HEAT A HL?

(a) 30 (b) 34 (c) 24 (d) 44

The average of 30 numbers is 40 and that of other 40
numbers is 30. The average of all the number is :

30 UEARA @1 AEd 40 AT 3T 40 WEAWY &1 i
30 B wﬁm&ﬁm%mﬁ?

(a) 34 - (b) 35 (c) 34 (d)34.5

The average of five numbers is 7. When three new
numbers are included, the average of the eight
numbers becomes 8.5. The average of the three new
numbers is :

ufe wEsll @1 offd 7 81 W@ i s @ gwfera
e wIrn 8, 3 wemei &1 3frEd 8.5 B SEr g1 W
i el &1 Iua A &

(a) 9 (b) 10.5 (c)11 (d11.5

The average age of mother and her six children is 12
yrs, which is reduced by 5 yrs if the age of mother is
excluded. The age of the mohter (in yrs) is :

T 37X 3Tk 6 Tl St ST A 12 I¥ & S 7 @l g
H1 WA T HI U 5 T &Y € A &1 W oA Y
et (awf @) 22

(a) 40 (b) 50 (c) 42 (d) 48

Average age of seven persons in a group is 30 yrs, the
average age of five persons of this group is 31 yrs.
What is the average age of the other two persons in
the group?

% JU ¥ |ra sAfeqa st 3id g 30 oY ], W qU &
uie sfeqal @t i g 31 ¥ 81 JU & T o
fwal &t e Iy ferat 87

(a) b5 yrs (b) 26 yrs
(c) none of these (d) 15 yrs

In a family of 5 members, the average are at persent is
33 yrs. The youngest memebr is 9 yrs old. The average
age of the family just before the birth of the youngest
member was:

5 GEEl & UNER &1 gdu 3ied g 33 ad &1 R
B TS i 3 9 T8 g1 W B W & TH &
9T URaR & Sied 3T F@ Hi?

(a) 30yrs () 29yrs  (¢)25yrs (d) 24 yrs
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SPECIAL AVERAGE TEST

13.

14.

15.

are given.

Two yrs ago the average age of a family of 8 members
was 18 yrs After the addition of a baby, the average
age of the family is same today. What is the age of the
baby?
2a§‘1&wﬁanﬁaﬂmarrg1saﬁzﬁ,ﬁ1ﬁ8m
9| TH S & ArAfed gt S & §1g, IRar &t adu=
A TUH | §odl dit aAHH G A1 B2

(a) 2yrs (b) 15 yrs (c)1yrs (d) 25 yrs

5 yrs ago, the average age of P and Q was 15 yrs.
Average age of P, Q adn R today is 20 yrs. How
old will R be after 10 yrs?

5 WTeT g, P U9 Q & 39 3g 15 99 81 P,Q W& R
@i 3ia 31Tg 20 I¥ 81 10 I §1E R & 371 771G HL?
(a) 35yrs (b) 40 yrs ()30 yrs (d) 50 yrs

The average marks of 50 students in a class is 72.
The average marks of boys and girls in that
subject are 70 and 75 respectively. The number
of boys in the class is :

50 Taranfefat @t U wean o 3ivda 3w 72 &1 3§ fawa §
! I Tefnal & 3faa i ®wA: 70 317 75 &, o

TSH! Hht TG FaATSUI
(a) 30 (b) 20 (c) 35 (d) 25
Directions 416-20) : In each of the following questions two equations
ou have to solve them and give answer

AIfp<gqg

BIfp>q

C)Ifp<gq

D) Ifp=gq

16.
17.
18.
19.

(E) If p = g or the relationship can’t be established.
Lp%2-7p=-12 I.g2-89+2=0
L.12p%2 -7p=-1 IL. 6g%2 -7g+2=0
Lp2+12p+35=0 IL 2¢g2%+22¢q+56=0
Lp2-8p+15=0 IL g% -5¢9 = -6

20.

I.2p%2 +20p+50=0 IL g2 =25

Directions (21-25) In each questions below one or more equations(s)
is/are provided. On the basis of these, you have to find out relation
between p and q. Given your answer as (a), (b), (c), (d), (e) as per the
following options :

21.

22,
23.
24.
25.

AIfp=gq
B)Ifp>q
C)Ifg>p
D Ifp=gq
(E)Ifg=z2p

Lp2-9p+14=0
Lp2=9
Lpp+D(p+2)=0
L. p2-19p+88=0
I.3p+12=4p + 6

M.g2-qg-2=0

IL g2 +6g+9=0
IL g% +8¢+15=0
IL g2~ 48¢ + 576 = 0
Lg% +17¢+72=0

Directions (26-30) In each question below one or more equation (s)
is/are given. ON the basis of these, you have to find out the relatinship
between 'P' and 'Q". Give answer.

. L4P2(P 1) =16
.LPP+25)+156=0 IL Q%-144=0
. L. 6P%2_-25P+21=0
.L5P+2Q-14=0

.LP%2+23P+132=0 I Q% +21Q+110=0

(A)IfP=Q
(B)IfP>Q
(C)IfP<Q
D)IfP<Q
E)IfP>Q

IL 2Q3.(Q@ 1) =18

IL 42Q% - 13Q = 42
IL 2P+ 3Q = 10
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SPECIAL AVERAGE TEST S

— ANSWER KEY

1. (d) 2. (c) 3. (b) 4. (d) 5. (a) 6. (d) 7. (©) 8. (a) 9. () 10.(c)
11. (c) 12. (@) 13.(a) 14.(d)  15.(b)  16.(b)  17.(a)  18. ()  19.(d)  20. (c)
21. (d) 22.(d) 23.(b) 24.(c) 25 () 26.() 27.()  28.(d)  29.(a) 30.(d)

HINT & SOLUTIONS

Put the value of eq (ii) & (iii) in eq

Sum of age of 5 members today
=33x5=165yrs

1. Let the average expenditure = Rs. x i e+ =23.7-7.7-6.8
Accrding to question, i e+f=9.2
35xx+42=42(x -1 i Averagezgzzlﬁ
35x + 42 = 42x — 42 : 2
Tx = 84 i 6. According to the question
x =12 i Average of six number is = 20
Initial expenditure =35x12=Rs.420 i Sum of six number is = 20 x6 = 120
2. Let the average of 9 people expenditure = Rs. x | one number is removed then
According to the question i Averatge of five number is = 15
30x8+x+20 _ i Sum of five numberis = 15x 5 = 75
9 i -.removed number =120 — 75 = 45
240+ 20 +x = 9x i 8.  According to the question
260 = 8 i Average of 30 numbers is = 40
x = 290 i Sum of 30 number is = 40 x 30 = 1200
8 i Average of 40 numbers is = 30
x =325 | sum of 40 numbers is = 40 x 30 = 1200
Total expenditure are = 32.5x9 = Rs. 292.5 | 1200 + 1200
, .. ! Total average = ———————
3. Let the scored in the eleventh innings = x i 70
According to the question i _ 2400
60x10+x _ 62 i 70
11 i =342
600 + x = 682 ! 7
x = 82 1 9. According to the question
4. Let the score of highest innings = x i Average of five number is = 7
the score of lowest innings = y | Sum of five numbers
According to the question i are=7x5=35
Average of 40 innings of Cricket player = 50 runs i Average of eight number is = 8.5
sum of 40 innings runs = 50 x 40 = 2000 i sum of eight numbers are = 8 x 8.5 = 68
Average of 38 innings runs = 48 i .. Avg. if three new numbers = 33 11
Sum of 38 innings runs = 48x 38 = 1824 ! 3
; x +y=2000-1824 i 10. Mother + 6 children = 12x 7 = 84
x+y=176 (D) i 6 Children = 6 x7 = 42
x—y=172 (i) (given) | 11, According to the question,
Solve equaltion (1) and (i) x = 174 y= 2 i Average age of 7 persons = 30 yrs
. Highest Scores = 174 i Sum of age of 7 persons
S. Let the six number are a, b,c,d, e, f i =30x7=210yrs
According to the question, i Average age of 5 persons = 31x 5= 155yrs
atbtctdtetf _ 3.95 i . Sum of age of remaining two persons = 210 - 155
6 i = 55 yrs
atbtctdtedtf=237 (@ i .. Average of remaining two is = 55
atb_34 : 2
! |
a+b=6.8 (i) | =27 yrs.
c+d _ 3.85 |12, According to the question
i Average age of 5 memebrs today = 33 yrs
c+d="117 ..(id)
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SPECIAL AVERAGE TEST

If the youngest member is 9 yrs old

~.Sum of the age of 4 memebrs before the birth of

youngest child

13.

=165-9-4x9
=120 yrs

Average = % =30yrs
According to the question

Average age of 8 memebrs two yrs ago = 18 yrs
Sum of age of 8 memebrs two yrs ago = 144 yrs

Afterthe addtion of ababy the average age of the family

is same today.

i.e., Average age of 9 memebrs today = 18 yrs
Sum of age of 9 memeber today = 162 yrs

In these 2 yrs the age of 8 memebrs is also increase in

age of 8 memeber = 8x 2 =16 yrs

14.

15.

16.

17.

~.Sum of age of a 8 memebrs today
=144 +16 = 160 yrs
: Ageofchild = 162- 160 = 2yrs
According to the question
P+Q
2
P +@ =30 yrs (5 yrs ago)
P+Q+E_,,
3
P+ @+ R =60 (Present ago)
Sum ofincreased age of Pand Qare= 30 + 10 = 40yrs
.. Present age of R = 60 — 40 = 20 yrs
.. Age of R after 10 yrs = 20 + 10 = 30 yrs

From alligation method

= 15yrs

3R+2R=5R
5R =50, 1R=10
Therefore number of boys in the class = 3R
=3%x10=30
Lp%2-7p=-12
p2-Tp412=0

or,
or, (p-3(p-4)=0

or, p=3or4
II.g%2-3¢g+2=0

or, (@-=-2(q-1D=0

or, g=1lor2
Hene, p> q

L12p2 -Tp=-1

or, 12p2-7p+1=0

or, Bp-D4p-1D=0

or :1 or 1
’ P=y 3

I1.6g2 -7g+2=0

or, (Bg-2(2g-1D=0

or :l or g
: 7= 3

Hence,q> por p<q

18. L. p2+12p+35=0
or, (p+ND(p+5=0
or, p=-7 or,-5
II. 2g% + 229+ 56 = 0
or, g®+11g+28=0
or, (g+7N(g+4) =0
or, g=-7 or -4

From the above values, we are unable to find the
relationship between p and q.

19. L.q%2 +11q+28=0

or, (p-3)(p-5=0
or, p=3 or 5
ILg2-59+6=0
or, (g-2(q-3)=0
or, q=2 or 3
Hence, p 2 q
20. 1. 2p2 +20p + 50 = 0
or, p2+10p+25=0
or, (p+52=0
or, p=-5
II. g% =25
or, qg=15
Hence, p < gq.
2. L(p-D(p-2=0=p=217

IL.ig-2(g+1)=0=¢q9g=2-1

p2q
Lp2=9=p=43,-3
IL(g+32=0=¢qg=-3
p2q
I.p:O,_I:_z

22.

23.

IL.(g+5(Q+3)=0=¢g=-5-3
Lp>q
24 I.(p-1D(p-8=0=p =118
IL(g- 242 =0=¢=24
Lp>q
25.1L.p=6
II.(g+8(@+9)=0=qg=-8 -9
Lp>q
26. 1. 4P2(P 1) =16
or 4P2. L _ 16
P
or, 4P =16
P=4
I1. 293@ 1) =18
31
or, 2Q 2 18
or, Q2 =9
or, Q=13
Hence, P> @
27. 1.P%2 +25P +156 = 0
or, P+12(P+13) =0
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SPECIAL AVERAGE TEST 5

P=-12-13 Hence, P 2 Q

I1.Q%-144=0 29. P-Q

or, Q2 =144 30. Q=P

Q=+12 I P2 +23P+132=0

Hence, Q > P or, P2 +11P+12P+132=0
28. .6P2 - 25P+21=0 or, (P+1D(P+12=0

or, 6P2-18P-7P+21=0 P=-11,-12

I1.Q%2 +21Q +110 =0

or, P-3)6P-7)=0
p_g’ or, Q% +11Q +10Q +110 = 0
6 or, Q+1D(Q+10)=0
1. 42Q% - 13Q - 42=0 Q=-10,-11
ord2Q? - 49Q +36Q - 42=0 Hence, Q > P
or, (7TR+6)6R -7 =0
Q-= 76
6’17
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